
   

 
 

 

SECADORA WGD9150WW0 

 

BENITO JUÁREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEÓN TEL: 8183377999 Y 49 
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SÁBADOS DE 8:30 A 2:00 PM 

www.denek.com 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



   

 
 

 

SECADORA WGD9150WW0 

 

BENITO JUÁREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEÓN TEL: 8183377999 Y 49 
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SÁBADOS DE 8:30 A 2:00 PM 

www.denek.com 

 

Guía Descripción # de parte 
1 Gas Burner Valve Assembly with Igniter  280119 
2 Burner Tube  WP693140 
3 Bracket, Ignitor  WP694298 
4 Igniter Kit  279311 
5 Screw  WPW10366705 
6 Screw  WP681414 
7 BRACKET  3389871 
8 Screw  WP693995 
9 Orifice, Burner Butan WP229742 
9 ORIFICE, LP GAS  15422 

10 Gas Valve Assembly  WPW10118347 
11 SCREW  694421 
12 BRACKET  694538 
13 M Series New Style Coil Kit  279834 
14 M Series New Style Coil Kit  279834 
15 Natural Gas Limiter  WP694424 
16 Screw, Regulator Adjustment  WP694423 
17 Spring, Regulator  WP694422 
18 Screw  WP488729 
20 PLUG  W10295523 
25 CLAMP, PIPE  3387561 
26 BRACKET  3389888 

 

 

 

 

 

 

 

 

 

 

 

 



   

 
 

 

SECADORA WGD9150WW0 

 

BENITO JUÁREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEÓN TEL: 8183377999 Y 49 
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SÁBADOS DE 8:30 A 2:00 PM 

www.denek.com 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



   

 
 

 

SECADORA WGD9150WW0 

 

BENITO JUÁREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEÓN TEL: 8183377999 Y 49 
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SÁBADOS DE 8:30 A 2:00 PM 

www.denek.com 

 

Guía Descripción # de parte 
1 Drum Support Shaft - Rear Shaft with Right Hand Threa WPW10359272 
2 Screw  WP488729 
3 Dryer Lint Screen Cover  W11222846 
4 HOUSNG-OUT  W11129408 
5 Dryer Heat Duct  W11168650 
6 Seal, Outlet Housing  WP697813 
7 Seal, Outlet Housing  WP697813 
8 Nut,3/8 x 16(R.H.)  WPW10080210 
9 Lint Filter  W10120998 

10 LENS  W11226088 
11 8-18 X .625 TR CR AB  W11693756 
12 CLIP  W11684573 
13 Screw, 8/18 x 3/8  WP90767 
14 Blower Housing Seal  WP697770 
15 Screw  WP693995 
16 Nut, 3/8-16 (L.H.)  WPW10080190 
17 Bulkhead, Rear  WPW10080170 
18 WASHER  W11236646 
19 Drum Support Roller Shaft - Right Hand Threads  WPW10359271 
20 Roller Support Tri-Ring  WPW10512946 
21 Dryer Drum Support Roller  WPW10314173 
22 Exhaust Pipe  WP8563728 
23 GRILL-OUT  W11219327 
24 Screw, 8-18 x 5/8  WP489463 
25 DRUM  W10865330 
26 SCREW  W10853898 
27 Dryer Drum Seal with Adhesive  280114 
29 Screw, 8/18 x 3/8  WP90767 
30 Dryer Thermal Fuse  WP3392519 
31 Outlet Screen Door Grille  W11086603 
32 Wire, Jumper  WP3401707 
33 Light Bulb - 10W  WP22002263 
34 Moisture Sensor  WP3387223 
35 Bracket, Drum Light  8578825 
36 SOCKET  W11222979 
37 Blower Wheel  WP697772 
38 Thermal Cut-Off  WP8573713 

 



   

 
 

 

SECADORA WGD9150WW0 

 

BENITO JUÁREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEÓN TEL: 8183377999 Y 49 
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SÁBADOS DE 8:30 A 2:00 PM 

www.denek.com 

 

Guía Descripción # de parte 
39 Spring, Lint Screen Door  WP3394986 
40 Clip-Spring  WP8066208 
41 Screw  WP488729 
42 Thermostat, Internal-Bias  WP8577274 
43 Screw  WP488729 
44 HOUSING  W10888146 
45 Exhaust Duct  WPW10128606 
46 Funnel, Burner  WP8573824 
47 High Limit Thermostat - 255F  WP3391912 
48 Dryer Radiant Flame Sensor  WP338906 
49 Screw - 10-16 x 1  WP3387230 
50 Dryer Drum Baffle  W10852390 
51 Bulkhead, Front  8565061 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



   

 
 

 

SECADORA WGD9150WW0 

 

BENITO JUÁREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEÓN TEL: 8183377999 Y 49 
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SÁBADOS DE 8:30 A 2:00 PM 

www.denek.com 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



   

 
 

 

SECADORA WGD9150WW0 

 

BENITO JUÁREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEÓN TEL: 8183377999 Y 49 
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SÁBADOS DE 8:30 A 2:00 PM 

www.denek.com 

 

Guía Descripción # de parte 
1 COVER  W10819767 
2 Screw, 8/18 x 3/8  WP90767 
3 SCREW  W10850756 
4 PANEL  W10542714 
5 Switch  WPW10411937 
6 Cover Screw  WP308685 
7 PANEL  W10542714 
8 Leveling Foot  49621 
8 Leveling Foot  49621 
9 Clamp-Motor  WP660658 

10 Spring  WPW10446781 
11 Retainer-Idler 1/4-20 x 1/16  WP3389420 
12 Dryer Side Vent Hole Cover  WPW10404617 
13 Idler Pulley  279640 
14 BRACKET  3978776 
15 SOUND ABSR  W10123956 
17 Control Bracket  WP8563727 
18 Washer, Thrust  WPW10121334 
19 SWITCH-DOR  WPW10318609 
20 Roller Support Tri-Ring  WPW10512946 
21 Cover  WPW10354249 
22 Ramp, Door  8580015 
23 CNTRL-ELEC  W10235613 
24 Front Door Panel - White  8580257 
25 Screw, 8/18 x 3/8  WP90767 
27 Drive Motor with Threaded Shaft - 120V 60 279787 
29 Motor Pulley  W10837625 
30 Drive Belt  661570V 
31 BRACKET  W10181903 
32 BRACKET  W11481730 
33 BRACKET  W11481730 
34 Elbow  WPW10416072 
35 Screw  WP693995 
36 Exhaust Pipe & Bracket  WP8563747 
37 PIPE-EXHST  WPW10331278 
38 Exhaust Pipe (Long)  WP8563749 
39 Idler Pulley with Bracket  W10837240 
40 CLIP  W11295573 

 



   

 
 

 

SECADORA WGD9150WW0 

 

BENITO JUÁREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEÓN TEL: 8183377999 Y 49 
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SÁBADOS DE 8:30 A 2:00 PM 

www.denek.com 

 

Guía Descripción # de parte 
41 Toe Panel (White)  WP8540621 
43 Screw  WP488729 
44 Seal, Front Panel  WP3387242 
46 Strike-Door  WP8565122 
47 Rear Panel - Galvanized  8565059 
48 Label-Hinge Hole Cover (White)  W10085210 
49 Screw  WP681414 
50 BASE  W11215531 
51 Side and Bottom Vent Kit  W10470674 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



   

 
 

 

SECADORA WGD9150WW0 

 

BENITO JUÁREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEÓN TEL: 8183377999 Y 49 
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SÁBADOS DE 8:30 A 2:00 PM 

www.denek.com 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 



   

 
 

 

SECADORA WGD9150WW0 

 

BENITO JUÁREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEÓN TEL: 8183377999 Y 49 
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SÁBADOS DE 8:30 A 2:00 PM 

www.denek.com 

 

Guía Descripción # de parte 
1 Label  WPW10256915 
2 Hinge  WPW10304672 
3 Screw  WP3373329 
4 SCREW  W11116979 
5 COVER  W10215766 
6 Window Seal - Black  8579663 
7 Screw  WP8534022 
8 Screw, 10-32 x 3/8  WPW10159996 
9 WINDOW  W10215761 

10 Door  WPW10164062 
11 Screw, 8-18 x 11/16  WP355515 
12 DOOR  W10215757 
13 Glass Window  WPW10286878 
14 Door Catch Kit  279570 
15 RETAINER  W10822054 
16 DOOR  W10431338 
17 Retainer, Upper  8519356 
18 SCREW  W10850046 
19 Door Seal  WPW10163915 
20 DOOR  W10215755 
21 WINDOW  W10215764 
22 DOOR  W10215755 

 

 

 

 

 

 

 

 

 

 

 

 



   

 
 

 

SECADORA WGD9150WW0 

 

BENITO JUÁREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEÓN TEL: 8183377999 Y 49 
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SÁBADOS DE 8:30 A 2:00 PM 

www.denek.com 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



   

 
 

 

SECADORA WGD9150WW0 

 

BENITO JUÁREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEÓN TEL: 8183377999 Y 49 
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SÁBADOS DE 8:30 A 2:00 PM 

www.denek.com 

 

Guía Descripción # de parte 
1 INSTALLATION, INSTRUCTION  W10240584 
2 Dryer Top  WPW10336080 
3 HARNS-WIRE  W10251443 
4 Console  WPW10215747 
5 Clip-Harness  WP3394427 
6 Bracket, Console  WP8565237 
7 Terminal Connector  353424 
8 Terminal, Female  WP94614 
9 CONNECTOR  3936144 

10 Terminal  WP596797 
11 Screw  WP488729 
12 Knob  WPW10236098 
13 Channel  WPW10266747 
14 NAMEPLATE  W10854980 
15 CONNECTOR  3395683 
16 SCREW  3400238 
17 Control, Electric  WPW10247234 
18 SCREW  3400238 
19 SPRING  W10645577 
20 BUSHING  W10215835 
21 SCREW  W10006580 

 

 

 


